Chemistry 12

[0 any calculation involving multiplicarion or division, the answer should
be rounded off to __ SERS OF S TS .

= P
Reveiw of Significant Digits u

In any calculation involving addition or subtraction, the answer should
he rounded off to | Ef ST . ol IhEC [fHACES

Determine the correct answers to the following and express them with
the CORRECT number of significant digits.

ay 3256 = 23

b} 7.809 x 3.21

c) 9.0x 1032 x  3.0000

£ 2.345 + 2.1

= ) 4.5 - 7987
h) 2.5785 + 6.752
iy 2.3000 + 0.00695
i 320 + 1000

a) 0.009078

3. Round the following to 3 significant digits. 3
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b) 3 555 80O

c) 3.463 x 103
@ d) 0.0023548
'\\/ e) 1.005 x 104

£} 3.9004

= d) 00054 = 012
@; el (2020x 103 ) x (280000 x 10-2 )} Answe
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